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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Answer any five questions. All questions are divided
into sections, A and B. Attempt any five questions
out of 7 questions from each of the sections. Section
A has short answer questions and each carries $
marks whereas Section B contains long answer

questions and each carries 10 marks.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
P.T.O.
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Section—-A
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What is business cycle? How does the unemployment

' 9
rate behave over the course of business cycle:

Explain.
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2.  Prove that:— Spvt + Sgovt — CA =1

(Where; Spvt, Sgovt, CA, and I are Private saving,
Government saving ,Current account and investment

respectively)

Explain the economic interpretation of this identity.
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3. Explain the concept of balanced budget multiplier.
Figfora asic OISl STAEROT qui g

P.T.O.
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The size of the multiplier varies directly with the size
of the marginal propensity to consume. Do you agree

with this statement? Explain.
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Describe the goods market equilibrium with the help

of desired national saving and desired investment.
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1.

what i the relationship between bond price and the

interest rate?
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Define macrocconomics, Fxplain the major

macroeconomic issucs.

fte srdare @y Rt <R Tt s @ TE T
1 guiA Fifer

List the four components of total spending. Why are

imports subtracted when GDP is calculated in the

expenditure approach?
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3. Suppose that government decides to reduce transfer
payments but to increase government purchases of
goods and services by an equal amount (i.e. AG =

—ATR).

(a) Would you expect any change in the equilibrium
income to rise or fall as a result of this change?
If so, why? Check your answer with the following
numerical example; suppose that, initially, C= 0.8,

t=0.25 and Y,=600. Now let us assume that

AG =10 and ATR=-10.
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(37) a1 S @ AR & GRUE T Gge o X 3
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¥, C=08, t=025 @ Y,=600 @ AG=10;

AG =-10.
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6.

Define the net export funetion: A ineroase {n margingl
propensity 10 import reduces the oquilibeium level of
income inan open cconomy whilo an fnereaso n
autonomous export ineroases the equilibeium lovel of

income. Bxplain with the help ol a graph
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What is budgot surplug? Lxplatn why an [nerease (n

government purchanes will reduce the budgel auplud,
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lixplain the coneept o money markot equitibriun,

ltxplain the meehanium of
@ rato ol

how o deorense 1

money supply affecty th Sinterent (e the money

market.
PO
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What is the high powered money? Explain the concept

of money multiplier.
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